> A
A & 0 & 2 & Al
20218 & =04 LBHSIH THR
i < ot
Buw o ezl
3 A2l (Sl & &)
= _ — d =
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
3,009,030 3,688,262 AB79,232
L=t P 2,563,374 3,260,027 A 696,653
22| 41,115 41,550 A 435
or I Aikztg] 41,115 41,550 A 435
201 L2l 39,621 39,911 A 290
01 At 22l 39,621 39,911 A 290
OZ8AN & BREHMF M 10,300, 000& 10,300
ONY - MiEZ4tet AISTEEEN M
2,400,000 2,400
OFAHNZEY OIMEZEH EUY
2,385,000 2,385
O3lAHAMZ HoIH 2 5,000& 2704 1,350
O2H3EXN 2= 250,000 250
OZ&MTARE 100,000 »3H 20 6,000
OxZ&d GB 0l 20,0003 x1024 128 2,400
OQASHEZI (S HA) M2
5,100,000& »1H 5,100
O=& R&E ct¥ M 1,250& *1,200H 1,500
ORFID eIl RANE= 3,327,340& 3,328
OHALUE HEIMAAE RS>
384,000& x12& 4,608
202 044l 639 739 A 100
01 SLHOIYI 639 739 A 100
OZ 4t ARIE =0l 213,000& »3H 639
203 YR =&l 405 450 A45
03 Al R =X QR =&t 405 450 45
OZ4 g2=2 450,000& *90% 405
307 glztol & 450 450 0
12 Q2o &= H| 450 450 0
OZ4HZ AR w=Hl 150,000 =3 450
A 2tel 1,272,622 735,485 537,137
FMHA MEHZAF & 22 566,217 27,720 538,497
201 L2l 27,720 27,720 0
01 At 22l 25,595 25,595 0
OZ2"/ML 2229 25,595
Egrr= 18,000, 000& 18,000
2E8EIeE 6,400,000 6,400
2HE o822 700,000& 700
22T & DA HE 495,000& 495
02 =24l 2,125 2,125 0




25 M
3 THEZS L Watze
el BRI el (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OoRbz S 2,125,000 2,125
308 XX SHHSO0IA 531,497 0 531,497
07 MHXSHH2AHESZ 531,497 0 531,497
SEMANZ 22 531,497,000& 531,497
401 Al B 20 HI 7,000 0 7,000
01 Al& H| 7,000 0 7,000
OTR U4 A2 FUAAHY B
7,000,000& 7,000
FTHEE SHES 146,500 120,000 26,500
201 Bt A H| 146,500 120,000 26,500
02 33249l 146,500 120,000 26,500
OHEANEE MHol=7 3 HSHl 57,300,000 57,300
OZEX2HA SHIHI 89,200,000 89,200
SSHE 249 525,405 587,765 N 62,360
201 et | 343,405 358,765 A 15,360
01 At 22l ] 4,260 4,340 A 80
O#AMXE wNsH(sds, =)
80,000& ~12& 960
OSEXE Z23EI)Ix2 200,000& *63| 1,200
O M2 2 E4=4=2 150,000 x 1404 2,100
02 3824 H| 339, 145 354,425 N 15,280
O Xt XAl 3,583
SSUHE 350, 000& = 1LH 350
s85359 180, 000& *3CH 540
s83E 60,000& =13CH 780
SEUSHE 330, 000& *2LH 660
SEgEaEUE 110, 000& *1CH 110
SEEsE 60, 000& ~5CH 300
SII=SUHE 75,000& = 1CH 75
=S 30, 000& ~4LH 120
- SEELE 28,000& = 16CH 448
ExS0lscl Xt 100, 000& ~2LH 200
OXNsXEE = 29,960
SSUHE 350,000& = 1CH 350
SEFE 600, 000 *3CH 1,800
s83E 300,000& = 13CH 3,900
SEUSHE 350,000 *2LH 700
SEEaUE 400,000& = 1CH 400
SEs8sE 380, 000& *5CH 1,900
SI=EUHE 470,000& *3CH 1,410
=z 400,000 *5CH 2,000
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SM: HPD
g WEEY & THab2ed
& SRIME 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
‘S EAE 500,000& = 19CH 9,500
ExEFAXT 500,000& = 11CH 5,500
ExE2ssdsxt 500,000 »4CH 2,000
E+E0ls=ClXt 250,000& »2H 500
OF= =D PR == 3,060
SEsE 130,000 =3H 390
}=EUE 400,000& = 1CH 400
- S=E85E 140,000 »5CH 700
- E84E 140,000& »7CH 980
ExEFAX 350,000 1CH 350
ExZ2csradrX 240,000& «1CH 240
OXts X212l dl 90,700
S2UE 1,000, 0002 = 1CH 1,000
s85E 1,000, 000& »3CH 3,000
s23E 600,000 = 13CH 7,800
SEU=EHE 800,000& »2CH 1,600
SEEUE 4,000,000& «1CH 4,000
SeE2sE 800,000& +5CH 4,000
-2 ElE 1,500,000 *3CH 4,500
CIE == 1,000, 000& *5CH 5,000
‘St EAE 1,000,000& = 19CH 19,000
Ex=2FAX 2,800,000& =11CH 30,800
ExE2ssddsXt 2,000,000 »4CH 8,000
ExE0s=ClXt 1,000, 000& »2CH 2,000
OXs A=l 211,842
SEUE(FLR) 1,361.08%3,1008 =104 4,220
SE85E(HI) 255. 73 *1,500kwh*2CH 768
SEFE(FLR) 1,361.08%3,1008 =104 4,220
S8IZE(FLR) 1,361.0& %7504 =13CH 13,270
SEZE(HED) 255.7& *1,300kwh*1CH 333
SEUSHE(MI]) 255.72«1,500kwh*1CH 384
SEUSHE(ZR) 1,163.53%5504 =1CH 640
SEEUE 1,163.5& 5,000/ =1CH 5,818
SESESE(ER) 1,163.5&%2,0004 *504 11,635
- SIEEUE(ER)  1,163.5%%1,5004 *3CH 5,236
- SISEFH(ER)  1,163.5%%1,0004 *5CH 5,818
- SE28AE(ER) 1,163.58%2,0004 1904 44,213
E*SHAN(ER)
1,163.5&+8,0004 =11CH 102,388
EEZ LT (ZR)
1,163.5& 2,000 =3CH 6,981
ExES TSN RUHI(FLYR)
1,361.0&%300£ 3H 1,225

_3_



5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S22+ 4XHCNG)
730.0& *3,000nm" *1CH 2,190
SEXESH4T(ONG) 2=
730.0& *400nm* =1 CH 292
ExE0s=2XH(ZR)
1,163.5& %9504 »2[H 2,211
405 THabH S| 182,000 A47,000
01 HatL EZSFH S 182,000 A47,000
OXt& Al 182,000
IEEY 2848 21,500,000 =4CH 86,000
-0lILUHAs SsEE=sE 24,000,000 *2CH 48,000
-0ILIg SIS EAE 24,000,000 =2CH 48,000
OISR <01 34,500 34,500
405 TtHebF S| 34,500 34,500
01 AL EFH S 34,500 34,500
O&IIXsSX sE=E 34,500,000 = 1CH 34,500
A2t 914,236 A 1,239,205
HALAIE HH| 182,000 20,970
207 RO 22,000 22,000
01 284 22,000 22,000
OF B2AA S 2ot 24 22,000,000& 22,000
401 A& HIZ 201 Y] 160,000 A1,030
01 A& HI 160,000 A1,030
OMigE2 AEIT WH H| 35,000,000& 35,000
OFREAL A4 THHHXI 2t S At
30,000,000& 30,000
Oz -g8a d2+J| H2FHl 7,000,000& 7,000
O=& MEAY & &Y 10,000, 000& 10,000
Oza Mo AFRP Sx=Xy 18,000, 000& 18,000
OHMeg2 XotES ME= S A 35,000, 000& 35,000
OHM2g 2 22 BMAHY E= ZA
10,000, 000& 10,000
O&EAN EIIHEEH A 15,000, 000& 15,000
MR - E= 247,213 A 33,345
201 2et24d] 198,901 A 37,351
01 At 22l 52,524 A 34,348
OHAES 720,000& 123 8,640
Ostaal 2tel 28,376
St&E X 825,000& 128 9,900
SIIE &M 8,400 3601 x12& 3,629
HIIAZE A 8,400 584 «12& 5,847
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SN WD
Hu: WIIY L Wz
2+

=i M=

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
=5 X 25,000& *30Ef A x 128 9,000
OJIHa s 22| 720
M S 30,000& *200 A+ 12& 720
SHEFXE S CCTV S Xt 374,000& 12& 4,488
OJIAHA Y22 02 140,000& *x2H 280
OJIHa E28HA =4 8,000& x2H x120 1,920
OFAN BEF=IE =XNE M 3,300,000 3,300
OFA 2 2824 400,000& 123/ 4,800
02 352494l 146,377 149,380 A 3,003
o= &4 3,600& *250E 23| 1,800
OHERXN B 43,335
=2 3,839& x4, 215m 16,182
Mg 3,839 x3,686m 14,151
- ALz 1,897& 1,427 m 2,708
- Mg 2t 2,953 x622m 1,837
- MI3g = 2,953 x701m 2,071
- 9l 3| 2,953 %1, 277m 3,771
- NMOESSEH AR A 3,839& *488m° 1,874
CEME 3,839& 193 m* 741
Oz - 822 S4 HUet)| RIE
5,000,000& *80% 4,000
Ode gedh 29 2,000,000& 2,000
OAHE AR A HieEA 4,000,000& 4,000
OZAINA AIS 52,900
- EAF YWHEE S AIDA 370,000& 130 48,100
- RUAE 400,000& x12& 4,800
OFAN DNESRLEL2 5,200,000& 5,200
O -t = 19,720
- A 1,560,000& *12& 18,720
MOISSSHAIR A 1,000, 000& 1,000
OMOIZESHYHAIRA H3 X HA 190,000& 190
ORoAH 292 5,280
=238 ,93 S 440,000 x12& 5,280
O£ oHE IS (23, AR)
110,000& 20| *12& 2,640
OFREA A8orA 22| XHE 3 H]
48,000 *3H x 13 144
O4at &8H & 1,000, 000& *23] 2,000
Odgtae A2 264,000 x12& 3,168
203 ¥ R =&t 450 500 A 50
03 Al ZEZ R =F Y| 450 500 A50
OBAZ2 ALEH 500,0002 *30% 450




SN WD
Hu: WIIY L Wz
2t

=i M=

SA - BB B (EH) - NRAY - BES of & o San HI D2
301 €EtE2 N = 47,862 43,806 4,056
B AR =R2QEES 47,862 43,806 4,056

O3lH & EA2el gREX 47,862
== 608,500 x5H x 12 36,510
N 6,000& x5F 222 128 7,920
ME=gall 2,600 x5 #2224 «12& 3,432

AGET HI2E AL Al 2 22l 430,023 458,853 N 28,830
201 2Bt2 S| 260,878 223,017 37,861
01 At 2t el b 35,280 38,200 A2,920

OBAM 22| B8 700,000& 128 8,400

O&F=+J| gz 50,0003 +2CH =128 1,200

Ozeld d= 15,000& 122 180

O3J188) gz 25,0002 x 128 300

OFMYHEY 450,000& x12& 5,400

ORAUZHAIAEH 600,000& ~12& 7,200

OFAxXE E9 1,050,000 x12& 12,600

02 3324l 225,598 184,817 40,781

OdIIR3 8,000,000 x12& 96,000

Odot=== 1,500,000 «12& 18,000

OHLE ZAIDEA 300,000& =130 39,000

OdJletdatel d=+=8 1,570,000& 12 18,840

OsdJl A== 400,000& 128 4,800

OSHURB(FIHE) 25,000& 122 300

Oblat &I 22l 2,340
22F WA ¥ Fd 1,800,000 13/ 1,800
=] 540,000& 540

OuSRZLREES 6,000,000& 6,000

OH=RA E= 1,017&%10,683m 10,865

Oagotd e &2 187,000& »12& 2,244

OA&HEH 1,300,000& *23! 2,600

Oagtord 2te| X &3l 48,000 x1E *13] 48

OF=3 1= r=EN 11, 1103 »135E %23 3,000

oozt 34 77,000% = 168CH 12,936

O3 (HEuEI|) 22

125,000 =690H * 13! 8,625
301 gEtE N = 19,145 15,836 3,309
B AR =R2RIFEYS 19,145 15,836 3,309

OFAZE A =R (2Y) 19,145
== 608,500 »2H «12& 14,604
S Al 6,000& 2222 123 3,168

- W SH| 2,600 2224 123 1,373
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2M: MR
I WIS L etz
el HAzEl (el @2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
307 glztol & 150,000 220,000 A70,000
05 22t & =2 150,000 220,000 A70,000
OAl&2tel /29| 150,000,000& 150,000
AEAN HE EIEHEE EY 55,000 0 55,000
207 & 51 OH & Hl 55,000 0 55,000
01 A2 EAH| 55,000 0 55,000
OdMEAMN HE BEHHBE 29  55,000,000& 55,000
dYSHY 29 335,401 329,551 5,850
SAAE 2 308,948 302,753 6,195
201 2Bt2 Yl 178,948 180,553 A 1,605
01 AtR 22l | 3,870 3,870 0
OFEsMEH 223 3,870
SHa ZAASI B3
100,000 +3CH 90% 270
SHAE 22X 2,000,000& 23| x90% 3,600
02 5529t 175,078 176,683 A 1,605
Oosdes 137,460
LENE 23 99,000
- gBtd st 1,750,000 «12& 21,000
- ISDN 1,500,000 x12& 18,000
- QB SN B 5,000,000 x12& 60,000
0SS 2= 3,960
-RUE 2= 51,0003 x4CH 123 2,448
-RUHE 2= 60,0003 x1CH =12 720
-RdNE 23 33,0003 +20H =128 792
W3 s 23
25,000 #2538 & »12& 7,500
-2 XHAIXI(SMS) 23 2,000,000 x12& 24,000
SEHUTV=A E 250,000& ~12& 3,000
OSeAE ]I - 2= 32,218
FESUY SS2HCIAAE
131,558,000 *6% 7,894
CIHY M3 AIAE 196,973,900 *3% 5,910
P& 30| 218,000 *260CH *6% 3,401
SLAAE D] 300,000 »3CH 6% 54
S oa gEFH 25,550,000& *6% 1,533
S A adEA BETH 27,597,200 «6% 1,656
H2g g3l 65,131,640& *6% 3,908
Ofel & & &l 9,420,000& *6% 566
g2es7l 8,900, 000 *6% 534
AEH ZALEHI 36,219,500 *6% 2,174




2N
X ZH -
L= B

el

= - 4 14
S FE - B (SH) - NRAY - BES e HlDE2
LEDE Rt & ==9f 29,862,000 *6% 1,792
SHHEEIFEX 13,263, 000& *6% 796
TUHSAEZ St 2,000,000& 2,000
Oty dFHE MHIA AHEZ 5,400,000 5,400
405 XtAtHE SHI 130,000 2,200 127,800
01 AL ESFH S 130,000 2,200 127,800
OQHUYWHESAIAE 2 W 48,000,000 48,000
OoZd HitiEzH 30,000,000& 30,000
O=3 - ZdEAAaE 52,000,000& 52,000
234 AASESA R AHIA 1,000 1,000 0
201 €24 1,000 1,000 0
01 At 22/l 1,000 1,000 0
OMSHEZAL EH nE 1,000, 000& *13| 1,000
MEEDNEEZ 29 25,453 25,798 A 345
201 L2l 25,453 25,798 A 345
02 =224l 25,453 25,798 A 345
ORMABNEEZ 2 25,453
SMNENEER 29 223
25,453,000 25,453
HY2FZH (HRD) 445,656 428,235 17,421
2l 82,890 104,940 A 22,050
=224l 82,890 104,940 A 22,050
201 et 15,066 16,740 ANT1,674
01 At 2t 2l 15,066 16,740 AN1,674
ORN2E+=EHl 7,290,000 7,290
OJlege+d Sl 7,776,000 7,776
202 Odl 63,504 84,000 A 20,496
01 = LH 4 Hi 63,504 84,000 A 20,496
OJI2g =0t 90,720,000& *70% 63,504
203 YR =2l 4,320 4,200 120
04 EASIYRFEH| 4,320 4,200 120
ORN2EYE=AHI 4,800,000& *90% 4,320
eI 23 362,766 323,295 39,471
A2 362,766 323,295 39,471
101 @124l 362,766 323,295 39,471
02 JIEtE B = 140,194 115,604 24,590
Os4aa wetd 29,835
A 22,017,000& »1H 22,017




SM: HPD
M HH2IZH(HR)
chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
s 80,000& x12& 960
Saxesy
1,834,750 x40 Al 2+ /35A1 2+ %84%*5%+ 128 1,057
XS 2 XUl 145,000 *35A1 2H/40A 2+ x12E 1,523
& Mz AlH| 140,000& 12 1,680
SEUZEFE 8,798& x20Al 2+ x 12 2,112
- OB A
1,834,750 «84%*86%x1/30%1/7+77 Al 2t 486
OFAMIAA AMALSHLIIM(0HS)(3Y) 110,359
HE 21,600,000& »3H 64,800
IHEE 40,0003 x12& «3H 1,440
SR
1,800,000% «7/8%84%*5%* 128 3 2,382
AZ 2l 145,000 +7/8x12& »3Y 4,568
Z A AH 140,000& 128 »3H 5,040
ZTU2RE 8,798& x55A1 2t 128 »3H 17,421
e =] 70,7223 x 102 «3H 2,122
- Hers sl 50,000 *7/8* 128 «3H 1,575
L2 &HH|
1,800, 000 *86%*84%+1/30*1/7+84 Al 2t+3H 1,561
HUA0H3 2,500,000 »3H 7,500
o=l 1,950
- g s(ot=) 250,000& »3H 750
-HYg=s(ss) 400,000& »3H 1,200
03 I AHA2ZZHE > 222,572 207,691 14,881
OFAEA 22| 222,572
22 (ss) 2,289,280 6P« 12& 164,829
FHsg 2,880
-ESE 40,0003 x6H x 128 2,880
Scl = 4| 20,349
- ZUgAlY| 130,000 x6H x12& 9,360
- BE S0t
JlE2=2 2,289,280 x6H «40%*23] 10,989
ZTHZRFE 26,652
A2 R
11,782% x150%*2 Al 2t x2H 249 17,603
- AXRIRINLY
11,7823 «BAI 2H+6H « 16 9,049
S0 1,090, 330& 6 6,542
o=l 1,320
- &Y= 140,000& 6% 840
- 23 40,000 x6H x23] 480




